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Dé so 81
Cau 1: Choose the sentence that is closest in meaning to the sentence provided The critics

undervalued his new book.l D

a. The critics rejected his new book.

b. The critics were fed up with his new book.

c. The critics had a low opinion of his new book.

d. The critics turned down his new book.

Cau 2: Choose the word or phrase which best completes the sentence. , the workers

will stop working.

a. Unless the working conditions aren’t improved

b. If not working conditions are improved

c. If not the working conditions are improved

d. Unless the working conditions are improved

Cau 3: Choose the word or phrase that best fits the sentence When we were children

we skating.‘ P

a. had gone

b. were going

c. go

d. used to go

Cau 4: Choose the word whose underlined part is pronounced differently from that of the

others.l A

a. absence
b. abundant
C. arrive




d. apologize
Cau 5: Choose the sentence that is closest in meaning to the sentence given. There was no

alternative for them but to look for a new flat. °

a. They couldn’t alter their new flat.

b. They can’t look for a new flat now.

c. They didn’t need to look for a new flat because of other alternatives.

d. The only thing they could do was to look for a new flat.

Cau 6: Choose the word or phrase which best completes the sentence. I....... recently.
D

a. can’t have slept

b. won’t have slept

c. didn’t sleep

d. haven’t been able to sleep

Cau 7: Choose the sentence that is closest in meaning to the sentence given. There is no point

in asking Tom for help. B

a. It’s unable to ask Tom for help.

b. It’s useless to ask Tom for help.

c. Asking help for Tom is unnecessary.

d. Tom will help if you ask him to.

Cau 8: Choose the best sentence made from the cues given Two miles/ long/ distance/ old

man/ jog/ everyday. b

a. Two miles are a long distance such old man to jog everyday.

b. Two miles are a long distance for such old man to jog everyday.

c. Two miles is a long distance for so an old man to jog everyday.

d. Two miles is a long distance for such an old man to jog everyday.

Cau 9: Choose the word or phrase which best completes the sentence. There has been a lot of

: c
......... against nuclear weapons.

a. criticism
b. contest
C. protest
d. conflict

Cau 10: Choose the word whose underlined part is pronounced differently from that of the

others. B

a. unwise

b. develops

c. values

d. equals

Cau 11: Choose the sentence that is closest in meaning to the sentence given. She started

. . D
working as a secretary five years ago.

a. She will work as a secretary for five years.

b. She worked as a secretary for five years.

c. She hasn’t worked as a secretary for five years.
d. She has worked as a secretary for five years.



Cau 12: Choose the word whose underlined part is pronounced differently from that of the

others. C

a. heaven

b. weapon

c. cheap

d. head

Cau 13: Choose the word whose underlined part is pronounced differently from that of the

others. ©

a. abuse

b. duty

c. bury

d. amuse

Cau 14: Choose the word or phrase which best completes the sentence. I hear that your

examinations are next week. You....... very hard at the moment. P

a. study

b. are being studied

C. must study

d. must be studying

Cau 15: Choose the word whose underlined part is pronounced differently from that of the

others. ©

a. support

b. pressure

c. discuss

d. mischievous

Cau 16: Choose the sentence that is closest in meaning to the sentence provided The children

p . D
couldn't go swimming because the sea was too rough.
a. The children were not calm enough to swim in the sea.
b. The sea was rough enough for the children to swim in.
c. The sea was too rough for the children to go swimming.
d. The sea was too rough to the children’s swimming.
Cau 17: Choose the sentence that is closest in meaning to the sentence given. The teacher

said to his students: “Never leave the room without asking for my permission.” c

a. The teacher encouraged the students to leave the room but they should ask for his permission first.
b. The teacher suggested the students leave the room in case of necessity.

c. The teacher told the students to ask for his permission before leaving the room.

d. The teacher banned the students from leaving the room.

Cau 18: Choose the word or phrase that best fits the sentence. Listen !

They about the exhibition. Let’s join them. P

a. talk

b. talked

c. have talked

d. are talking

Cau 19: Choose the word or phrase which best completes the sentence. , he would



have learned how to read. D

a. If he has been able to go school as a child

b. If he could go to school as a child

c. Were he able to go to school as a child

d. Had he been able to go to school as a child

Cau 20: Choose the word or phrase that best fits the sentence. We decided to go out for

dinner it was raining heavily. b

a. because

b. despite

c. even if

d. although

Cau 21: Choose the word whose underlined part is pronounced differently from that of the

others. C

a. summer
b. function

c. mother

d. bury

Cau 22: Choose the word or phrase which best completes the sentence. It was lovely weather

that we spent the whole day on the beach. A

a. so
b. more

c.soa

d. such

Cau 23: Choose the word or phrase which best completes the sentence. Garlic is a plant that

. . A
grows there is a warm climate.

a. wherever

b. how

c. which

d. what

Cau 24: Choose the sentence that is closest in meaning to the sentence given. With six

children on her hands, she is extremely busy. b

a. She’s very busy because she always carries her six children.

b. Her six children’s hands always make her busy.

c. She’s too busy to look after her six children.

d. With six children to look after, she’s very busy.

Cau 25: Choose the word or phrase which best completes the sentence. After you have paid a

bill, you are given a ......... to show that you have paid. ®

a. receive

b. receipt

C. receiver

d. reception

Cau 26: Choose the word or phrase that best fits the sentence. Listen !

They about the exhibition. Let’s join them. P




